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a) What do you mean by resonance in series L-C-R circuit? 2 

b) The series L-C-R circuit is similar to arrangement that are sometimes used in radio tuning 

circuit. The circuit is connected to the terminal’s of an ac source with constant rms terminal 

voltage of 1.0V and a variable frequency. Find  

i) The resonance frequency. 1 

ii) The inductive reactance, the capacitive reactance and impedance at the resonance 

frequency. 2 

iii) The rms current at resonance. 1 

iv) The rms voltage across each circuit element at resonance. 2 

 

 
11)  

a) State the laws of radioactive disintegration. 2 

b) Differentiate types of radiations coming from radioactive sources. 1 

c) A radioactive element of atomic weight 99 has a half life of 6 hours. Find the activity in a 

solution containing 1 gram of this element in the beginning, and after 1 hour. The 

Avogardro’s number is 6.023 X 1023 mol-1. 3 

d) Explain the meaning of natural and artificial radioactivity. 2 

 
Model Question -3 

Grade: XII Subject: Physics (102)  
Full marks: 75 (11 marks Obj+ 64 marks Sub)  Time: 3 Hours 
 
Attempt all the questions:  
  Group “A”  
Rewrite the correct option in your answer sheet: 11X1=11 
1) The spokes are used in bicycle wheel to 

a) Increases fricitional force 
b) Decreases fricitional force 
c) Increases moment of inertia 
d) Increase angular momentum 

2) An iceberg floats in sea water of density of 1g/cc. the % of volume outside water is if 
density of iceberg is 0.9 g/cc 

 a. 90% b. 10% c.45% d. 5% 


